% E 7|opRs 2 Uehf @2 sk, oju) 2RE

TSI 2.

RRol Rl gotvt 189 B8
7)ok 4ekT e,

24 24+12 2

36 36-12 3




18
21

12
16

@

10
15

®

Aot 2 o] Fopot

L d
L




a2 2718 HaLste] > =, <& A4 UERALL.

iy

vV V¥
0
L
v

~&B

3 3x5 15
4 4x5 20
3 3x4 12
5 5x4 20

w2 > 2 gye,




9 12
@ o o) 2

16
24




® (5-35)




— |

< o

3
9

©)

20
54

@)

30
65

ny
ny
T
B
o]
K
el
i
<
w W
ol
CR
TR
M N
+ o
D&
o8 i,
N -
min m
0 |0 e
— <t ™




M
>
i
N,
18
Bl
>
Hu
i
Ha
T
o
=
M
flo
3
>
o

16 2 18 3 24
D373 %75

N
36

® 24936 9] HFAFE 120|122
A HRE 77 128 Uyt
24 + 12

36 =12

2
3




8 716 ©) HAgu5o] w4
Yk,

w2tA 16 9 ¥4 16, 32, 48, 64,80, 96, --- ...7Fofd A

45U

L BT 3EROI} Y

-
¥
i)

o




5

or 0]
™ T
utd| H
o =

28

.

ull

A

-

ul

28

-

ul

Hj4 28 o] &

Ho
e

42} 79]

Aol 4 & e,

SELDE




b o A ARe) ol $AE gol MU 22 1] ke, 10 ke, 15 ke

9 7
ol 1t
Al M) 8 FAL ARE AR 7155 240,

> E

it

iy

o
il
°

v V V v Vv
o
il
ko)

0
o

7

(ta8) & (12 19) 5 i and
2 9 18 18 2 9




0.15




12.

©
S| &
©
wl o
®
ol
©
NelNep
©

10
15

30 _
15 £30 7458 gk 3, 5, 15 2 oked 5 Gy
30

5 535 152 ke

10 6 2

g 37 A




1_'T'

W oA ol| B8 ek,

13, ojw 50] et Bate] G 56017, oREat] J|oREsR et

» E:
20
>z 2
5 10 15 20 25 -
—_—= — = — = —— I = T s e A
9 18 27 36 45 elA

Bt 2ol ol 56 Bk = gk,




14. T4 50 2712 vlasto] 2 41 22 7|58 24 Q.

3 7
@5 © 0.54 @g ® 0.7

i

i

ox  oX
LR (1}

0
o

v v vV Vv v v iVvy
0
i

© 9@ ® O

54 27 7
© 0.54 = 100 = 50 @0'7_E




15.

A5, 2u], Aol M Ho|mg 747

)

lzm, 1
5

oﬂ/q F7F 7 20 A Hlol 2 E 74| AL

3

10

1
m, 15 m 7}-11—?’—

A&7

2 4 3 1 5

1= 1=, 1= =1—o]lBg
15 110’110’12 110 ]
11>1g>1i

2 5 10




™o

16. di-goldl "2 AlA




4 ) )
bos=3 @ 0.5=5 ® 0.25=-
2
0.125 —— oa 2
N o=
4+2 2
®04= 053" F




o) BRo] 14 2 GPL u, B AntS Hafof B40] 277

SHA k71

rE e

=
=

>
|> b 1= St

oHd -

a+[ ] a+[] oma
21

T+14

2 o Bmet o) A7 32

FolloF 2717} WotA) kit

4x3  4+[ |

Tx3 21

12=4+[ |,[ ]=8




19. 2 metam 2 o ge 4 304 2t 159 AlokeE ws

> =
> =
15
> dd =
15
x~Ch i
60 15 x4 60
= _— - d o)
84<|:|><4<659}E]

A5 2A T =

ERE H|Woto] g4 Kt a1,

65HTh 2 4 5 49 Hj4E FsUTh

49] Hi4= 68,72,76,800| B & 7| FRSR
UErH B0l B 17,18,19,20 JYth.

15 15
Uil‘al'/\ Z|oFH AL — & , ol ]
—L ] i 7 —19 14\:]—




< 4
100 20

8

©)

B

>12<1.333--:

<l
\
O O

=> 0.875 < 0.96

<t
[a\]

25

\Y
D~ | oo

<t
N9
(an) (]
o @
S o -
=) nlu \%
A 10
I \__/ —
o AN
<8 o
<t |
\Y — 00 1O
(an)
w2 |2 AN A

— — |00 |

@ 8 ©® © ©




